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sin A = B =

AC
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watA AC - AB =15-9 =6 o]t

o]B& AC xsin A = BC o]t}

metratAs A2lof o5 AB = V152 — 122 = 9 o[t}




o2 18 22 AABC 9|4 sinx X cos x X tan x 9] S £5hoi 2t
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L /C=x
BC = V122 + 52 = V169 = 13
sinx—ﬁ— =2
- BC 13
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~BC 13
AB 12
tanx = — = —
AC 5
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.. sinx X cosx X tanx = —

169




ohe 139 AABC = AB = lem, £/ABC = 90° ,
(CAB = 60° ¢l 2124412zt o]11, AC = CD o]t}
ojuf, tan 75° o] Ft-27

@2+«/§ @ 1+ V3 ® V3
@ 2+ V2 G 1+ 2
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_ 1
= — = 2
¢ cos 60 °
o] 5H4Zte DCA ol LACB = 30° |22

/CAD = /CDA = 15°
AABD ©J|A] tan /DAB = — = BC + CD

S tan75° =2+ V3
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o] A BC =8 ¥ W, cosA x
tan

A

7F85 1 ¥ O o HHshH= AABC
L xsinA o kg ool

B~——2C
LA = /A
AC=VIT2-82=15
. 15 15 8
COSA X p— X sinA = 1—72>< 3 X 7
225
1 289
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@ sin30° —sin60° = q
@ cos30° x tan 30° 4 sin 60° X tan 30° = 2
cos 60°
N
sin 30° V3

@COS 45° + sin45° = V2

® tan60° X tan45° = V6
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1-+vV3
@ sin 30° — sin 60° = 2‘/_
@ cos 30° x tan 30° + sin 60° X tan 30° = 1
cos60°
sin30°

® tan 60° x tan45° = V3




